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(MEODHBEE] @HCHOTE, BAETCEGHIBREBELE)

(1) f(F) =3sin(F +a)+8sin® T =3cosa+2v2=2/2 & b,
cosa=0Thb, 0Sasr &b, a=35TdhHb,

(2) f(z) = 3sin(2x + 5) + 8sin®z = 3cos2z + 8sin®z = 8sin®z — Gsin’z + 3
THb, f’(z):24sin22cosw;—1251nzcosz:125inzcosr(25inm71)ck”),
BBRIIRD & 5125,
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HHEED, o= 5 OLERAMEELY, o= E OLERMES 52 5,
(3) @ &Y, 3<k<5%i k=13 ThHA,
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[BR2QDHEE] @Es0TE, BAETTEEHIRROBELS)

(2) 2S4BT, [(@) = —(@+3)(e-4) £D, fz) = 20 +1Th3,
F)=-1k0, Rk HERE y= o+ 13 TH2,

(3) @ =24 OWFET, ik f(zx) LEML DL EEEZ S,
@+3)(@—1)=—0+13 £, K0 2 BEIES THS, Kb BHRE
/14{(—:n+13)+(.’l;+3)(z—4)} dz+/45{(*1+13)—(z+3)(z—4)} o

4 5

:/ (r2—22+1)d.1;+/ (~2* +25) dz
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